
CHEM 100                                          Name___________________________________ 
Quiz 2                                                                                                         Summer 2011 
 
Complete each of the following problems.  For numerical problems, you must show your 
work in order to possibly earn full credit. 
 
1. Write the electron configurations for the following atoms. (2 pts. ea.) 
 

a.  nitrogen  

b.  sulfur  

c.  arsenic (As)  
 
2. In the periodic table, atoms within a group (vertical column) tend to have similar 

properties and reactivity.  Why is this the case? (6 pts.) 
 
 
 
 
 
 
 
 
 
 
3. With a plentiful supply of air, 3.0 parts of carbon react with 8.0 parts oxygen to 

produce carbon dioxide.  How much carbon is required to produce 960 g of carbon 
dioxide? (6 pts) 

 
 
 
 
 
 
 
 
 
 
 
4. In a sentence or two, define the following chemical terms. (3 pts ea) 

a. isotope: 
 
 
 

b. reduction: 
 
 
 



 
 
 

Possibly Useful Information 
 

 
 
 

 


